

$$\frac{AG}{BG} = \frac{GK}{DG} = \frac{AK}{BD} \text{ -----(3)}$$

From (2) and (3) $\frac{AB}{KD} \times \frac{AK}{BD} = \frac{AG}{KG} \times \frac{GK}{DG}$

$$\Rightarrow \frac{AB}{KD} \times \frac{AK}{BD} = \frac{AG}{DG} \text{ -----(4)}$$

$$\Rightarrow \frac{AB}{KD} \times \frac{AK}{BD} = 1 \quad \text{By Using (1)}$$

$$\Rightarrow AB \times AK = KD \times BD \text{ -----(5)}$$

By Using (Ptolemy's theorem: If there is a quadrilateral inscribed in a circle, then the product of the diagonals is equal to the sum of the product of its two pairs of opposite sides.)

$$AD \times BK = AK \times BD + AB \times KD$$

$$\Rightarrow BK^2 \times AD^2 = AK^2 \times BD^2 + AB^2 \times KD^2 + 2AK \times BD \times AB \times KD \quad (\text{As } AB \times AK = KD \times BD)$$

$$\Rightarrow BK^2 \times AD^2 = (AB^2 - BK^2) \times BD^2 + AB^2 \times KD^2 + 2AB^2 \times AK^2$$

$$\Rightarrow BK^2 \times AD^2 = AB^2 \times BD^2 - BK^2 \times BD^2 + AB^2 \times KD^2 + 2AB^2 \times AK^2$$

$$\Rightarrow BK^2 \times AD^2 + BK^2 \times BD^2 = AB^2 \times BD^2 + AB^2 \times KD^2 + 2AB^2 \times AK^2$$

$$\Rightarrow BK^2 \times (AD^2 + BD^2) = AB^2 \times BD^2 + AB^2 \times KD^2 + 2AB^2 \times AK^2$$

$$\Rightarrow BK^2 \times AB^2 = AB^2 \times BD^2 + AB^2 \times KD^2 + 2AB^2 \times AK^2$$

$$\Rightarrow BK^2 = BD^2 + KD^2 + 2AK^2 \quad (\text{Proved})$$

DR SHYAM SUNDAR AGRAWAL (8389830100)

Assistant Teacher MATHEMATICS

RANI RASHMONI HIGH SCHOOL (H.S.)

104/A S N BANERJEE ROAD

TALTALA, KOLKATA – 700014

WEST BENGAL